@ Onwyias

UPSC Philosophy Optional Paper-01

WUS - A / SECTION-A
1. fAfafad # @ UQd® &1 THT 150 el H T IR o

Write short answers to the following in about 150 words each : 10x5=50

1.(a) " UG} & o1 Sfeg-diy =M € duT sfg-ay 9 e Ty Rad €1 SWidd Sy & 3l &
fada 1 BT b fhe TR P gfgare auT srvaare &1 9H-ad I § |

"Precepts without concepts are blind and concepts without precepts are empty." In the light of this
statement discuss how Kant reconciles rationalism with empiricism. 10

1.(b) "SfA8T gId® Jedid o Ufhar 81" 39 HUT P 3MTAlD H 3iderd &I JHSH P U 871d & ¥
P! fad=a-1 HIfTT |

"History is a process of dialectical change." In the light of this statement discuss Hegel's approach in
understanding history. 10

14(c) "I X DI W Pl ol YHdl g O had 307 WYY ffAardd: ifdaar g, 3R S Wold
AV (HAfdG BT 1" S8 HYU & 3MTclld H RIS & HFddlg dUl WId=4 Yeiti f[daRl o fdae1 Hife |

"That thing is said to be free which exists solely from the necessity of its own nature, and is determined
to action by itself alone." Discuss Spinoza's views on freedom and determinism in the light of the above
statement. 10

1. (d) T DY ATHT BT HAAT A gU BIBIG (b THR g7 B! ATGHIH 3T B SAURT & g
Gl TR B § 2 SMATGATED [adaT HIorg |

How does Kierkegaard argue against Hegel's idea of universal spirit in favour of the individual as the
essence of spirit? Critically discuss. 10

1.(e) T8 g &1 & fo i Txaiwunatss urufaes fFHofa vd § sic o1 gfeaarl ugd $%d § ? a0l
fera= BT |

What are the main arguments offered by Kant to prove that apriori synthetic judgements are possible?
Discuss with examples. 10
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2. (a) BRI T & FAIGHIS g W eRd sied Fath v §- §g0 & 39 dd &1 ATAaIHD
fazay ST |

Critically analyse Hume's argument that causality is a matter of habit/custom involving psychological
principle of association. 20

2.(b) 3R & IRATADH T AT AT & a1 UHG B ARSAT Tgd HIToE | FT Jg U= Hiep 34 F U
A AT WYT B TR BT FHTYT UJd BT § ? 3Fod IaIexuN Aled AR B |

Present an exposition of Aristotle's distinction between actuality and potentiality. Does it provide a
solution to the problem of being and becoming as presented in ancient Greek philosophy? Discuss with

suitable examples. 15
2.(c) GPId BT ST T RIGT auT 4 3R 5 W Ald IHT WUSH HRd 6, DI AR HITT |
Discuss Descartes' theory of innate ideas and the grounds on which Locke refutes it. 15

3. (a) T dlfched HIGATGHI! GRT URATAd aRadHie &1 SRATD T 3 B THT S1al I B AT SHUdT
g3l & WY o FHW A7 bR 37 Tt q ST g3 § 7 IUgad IR igd SuRed i |

Does the rejection of metaphysics as proposed by Logical Positivists relate to problem of meaning or
problem of knowledge or nature of things or all of them together? Discuss with suitable examples. 20

3.(b) §IRA DI YRR [T T DHIYTHROT GUT YA & Hged Bl W Pifoi |

Elucidate the significance of bracketing and reduction in Husserl's phenomenological method. 15

3.(c) " I 98 & Il U8 7Tel & 3R I8 98 T8I & o b Tg 21" 3 HUF b 3l & I &1 a1 B YR
D T faRvarst &l SWFR HIY |

"Consciousness is what it is not and is not what it is." In the light of this statement bring out the chief
features of Sartre's conception of consciousness. 15
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4. (a) TG G B T AT YR R A § 2 HT9-IRR gdare & forg g9et o fAfgard 8 » faaemn
|

Why does Strawson consider person to be a primitive concept? What implication does it have for the
mind-body dualism? Discuss. 20

4. (b) TV & 3FIUR Tg U "I BT IJHI ol T1oT 8" T} THATIRA § ? AT faaa-T difor|

Why according to Russell is the proposition - "The present king of France is bald" problematic ? Critically
discuss. 15

4.(c) for T Ui BRUN ¥ faeiRers 3o @ 31 & i Rrgra Y s v Rigra iR R Ad € 2
SIS fddaHT HIfTY |

What were the main reasons that led Wittgenstein to shift from picture-theory of meaning to(use-theory
of meaning) Critically discuss. 15

WUS 'B' / SECTION 'B'
fafiiad & § Ud® &1 @ 150 Weal § W SR o |

Write short answers to the following in about 150 words each : 10 x 5 =50

5. (a) "I AT I SMIURAF § TUT T HRUT AU 1 IWIGT B & AP § oFl & T
RIS &1 STATdHS TR1a P |

"All human knowledge is empirical and therefore relative. Critically examine Jaina theory of sevenfold
judgement (saptabhanginaya) in the light of above statement. 10

5. (b) "afe T3W 3R Upfd 1 guf & T T Tae & dl 37 <1 & ot g o Jae Irg T8t 31" 39 U
F TS | YD B YRS gaIe DI AT BT e f3aRor TR HIT |

"If Purusa and Prakrti are two completely independent realities, then no relation between the two is
possible." In the light of this statement make a brief presentation of Sankara's criticism of Samkhya
dualism. 10
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5.(c) ARTATHRI ‘I @ 3IRT B Sgaard] TR 1 & ? Siar faavor v |

What is Advaitin interpretation of the great sentence (mahavakya) 'Thou art that' ( tat tvam asi)? Briefly
discuss. 10

5.(d) ARAMNDT F HY - "3HT HIF T UGN BT § U1 FARUET 31HTT SR §". & UhT=T H Ih! 3HId
P SAYRUN b fdaR0T J¥Jd DI |

Present an account of Vaisesika's view of negation in the light of their statement- "Negation always has
a counterpositive and absolute negation is an impossibility." 10

5. (e) ARTI<l & G}F & AR BRI H S (JRARS) & WY 94T Y{HHT B AR HITOT |

Explain the nature and role of Supermind in evolution as per Aurobindo's philosophy. 10

6. (a) B B! 5aT 3R SR Taeht SITURUNSH BT IHTIST GRT B! T3 SATAGT D1 f[ddTT HIFOTT |

Discuss Ramanuja's criticism of Sankara's conception of Brahman and Isvara (God) 20

6. (b) SFIUCII THIUT TR YE Al TRd BT |

Present Bhatta's view of anupalabdhi (non-cognition) as a valid means of knowledge. 15

6. (C) TIRIPT & TNcheh Td 3reiifchep Ucdel Traet Rl b1 Ty BT | JraRg YT S1fd BT TIel gl o,
3 WPR B3 | T d Y1 T © ? = Ppife |

Elucidate Naiyayikas view of ordinary) and (extraordinary perception, Are justified in accepting that
universals are perceived Discuss.

(7. (a) AU B P Urd A0 & Hey & TATRD! BT §aTHN BT SAYRUN W Hiforg|

Elucidate Naiyayikas account of fallacies of the middle term m relation to five characteristics of valid
middle term. 20
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7.(b) g~ & TR & Td UTed &1 J: T (T UM § | 39 U Bl AR [ THR IS8R0l
T R ¢ ? 30T fewford wfed faden sifm |

Liberation is defined by Advaita Vedantins as attainment of that which is already attained'. How does
(Sankara illustrate this statement Discuss with your own comments. 15

7.(c) TN &R & SR fod Td gl o1 Sare Sifore | I &R faghrl o ARy &1 FAd=r &t
87 30 IR & & H ddb URdd BT |

(Crandhi) Explain Chitta and its modifications in the philosophy of Yoga. Why does Yoga philosophy
prescribe(cessation of modifications of Chitta)? Give reasons in support of your answer. 15

8. (a) "UNTIYATE B! 1 ST GO ¢ TIa(h ITHT I & BT 3fd g 1" IWIFd HYT & el § Fgl &
T&TARA B SRS Y DHITT |

"Ignorance of dependent origination is suffering while its knowledge is cessation. of suffering." Present
an account of Buddhist soteriology in the light of above statement. 20

8. (b) TSR & UNTHIT & 3ITYRUN IR Ueh fewft fifeu | gg sraurun {5y R IisT & SRl Rigrd
& ufauer # SulRiee! Bt U SR Rigd &t ufcRen # Tgradl &l § ? TS a1 BT |

Write a note on Nyaya notion of Pragabhava (prior non-existence). How does this notion help Naiyayikas
in defending their position on causation against the Samkhya view of causation ? Critically discuss. 15

8.(c) T US / Veg TTHIY BT YT I T 31aT I D! AT BHd © 2 39 AT TR ARG a1 Heiy dqar
DI IaTEXUN Aied TR DIfoTT |

Do words refer to universals or particulars or both? Present an exposition of Nyaya and Mimamsa position
with regard to above question along with suitable examples. 15




